OPTION 4 WHEEL PART AND ACCESSORIES CO., LTD

FITTING MANLIAL

PRODUCT NAME : BED RACK
PART NO : OP-378-003
CAR MODEL : FORD RAPTOR VI. (2018-0N)

0 ®

MADE IN THAILAND  OPTION 4wD  optiondwdoffice option.foﬁrwd@gmail.com



PART LIST

PRODUCT NAME : BED RACK ROLL BAR
CAR MODEL : FORD RAPTOR Wi (2018-DN)

1 2 3
= — 1
~
»
light Bracket Side Cover 2 Pcs. Side Cover 2 Pcs.
2 Pcs. (L+R) (L+R) (L+R)
: [ ecererer—ra—" > | °
Side Cover Side Cover Side Cover
2 Pcs. 2 Pcs. 1 Pcs.
7 8

e . BlE -

[ ] IQ‘ L ]

Side Cover 2 Pcs.
(L+R)

LED LIGHT,1 SET (2 Pcs.)

Page 1/3




PART LIST

PRODUCT NAME : BED RACK ROLL BAR
CAR MODEL : FORD RAPTOR VI. (2018-0N)

NO PICTURE NAME QTY UNIT NOTE

M8x1.25x20 36 Pcs

WASHERS M8 72 Pcs

FLANG NUT M8x1.25 36 Pcs

WASHERS 3/8 26 Pcs

’ M10X1.25X20 26 Pcs

FLANG NUT M10x1.25 26 Pcs

Page 2/3




FITTING INSTRUCTION

PRODUCT NAME : BED RACK ROLL BAR
CAR MODEL : FORD RAPTOR V1. (2018-ON)

Page 3/3



